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#9-2. Acceleration of a block with friction (slopeFrictionAcc)

A block of mass m = 8 kg is sliding up a sloped ground with spfed v = 9 m/s
of @ = 30° from horizontal, the coefficient of friction between the block=

gravity g = 9.8 m/s? acts vertically.

What is the acceleration a of the block?
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#9-2. Acceleration of a block with friction (slopeFrictionAcc)

A block of mass m = 8 kg is sliding down a sloped ground with speed v = 5 m/s. The ground is at an
angle of @ = 25° from horizontal, the coefficient of friction between the block and ground is u = 0.25,
and gravity g = 9.8 m/s? acts vertically.

What is the acceleration & of the block?

a= 1+ 7 m/s?
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A block of mass m = 9 kg starts at rest on a sloped ground. The ground is at an angle of & = 25° from
horizontal and gravity g = 9.8 m/s? acts vertically.

#9-4. Minimum coefficient of friction on a slope (slopeFrictionMinCoeff) A 5[ '
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What is the minimum coefficient of friction y so that the block will not slide? /4
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#9-9. Motion of a block with friction (slopeFrictionStick)

A block of mass m = 3 kg starts at rest on a sloped ground. The ground is at an angle of @ = 30° from
horizontal, the coefficient of friction between the block and ground is # = 0.5, and gravity g = 9.8 m/s?
acts vertically.

— sl,V Ao

What type of motion does the block experience?

) The block sticks and does not move.

) The block slips and accelerates down the slope.




—

CJ\@Ck ,Fl lNl

¥ F= (L IN \
N= 755N

A-VIO 3 /AA}C 12- 75

é- 147

c. [F ¢

pD. 1.6

me Iy, 62307 A= 9-Fu/2

-—

Slylo > N U’f

4 QS'Samv( 7%"'=&
2.

check : aA¥ O

f:\ woizs 3>§

Sl,p JOW‘/\ \/?/doum
ﬁj Qs'famw( 1;5&

F= -1z FEN o{
2.5:5N]

F=

C-Pb—ckl Qtﬁ Vs

[ - Fogpeses &
= IZ':J’LILA/Q‘(
N= L5 SN
§0L————!'Cf4%fm/s‘
AV2- g
B.— (.24
c. %19
p. —1-4%F




7é¢d e 2 7 oy SL( njLP
Fq_ é_—

F, «—— )
/L&tl/-«.,,,.J//(&éé¢1’(/£’////

Are k}mwﬁcﬂ/lj consishedt [4

H'DLJ Vl/l;.,uﬂ SMJJDS

A.Z

b. &

)1
. 16
.15



